Subject : Mathematics
Time.

General Instructions:-

I.

All questions are compulsory.

OSDAY Public School, Kaithal
PT-3 (2024-25)
Class: V

SET- A

M.M. : 30

Q.N.

Questions

Marks

1.

a.4.9 + =4,
b.16.5x 10 =

c. While rounding off numbers to the nearest crore we look at the digit in the

place.
d.If 663 + 13 =51 then 6.63 + 13 is

e.Assertion(A): % of 48m = 8m

Reason(R):% x 48 = 8m

I. Both A and R are true and R is the correct explanation of A.
Both A and R are true but R is not the correct explanation of A.

I1.
I11.
IV.

A is true but R is false.
A is false but R is true.

1x5=5

Sum of 2 decimal numbers is 6.4. If one of them is 2.257, find the other.

Simplify the given numerical expression

39+13x7+8-12

Round off the given number to nearest ten thousand and lakh place:

4,82,645

Rl Pl

Convert into a decimal number

3
20

NN

The number of different varieties of toffees are given below. Arrange the data in a

table using the tally marks:

Mango bites

12

Eclairs

9

Coffee bites

18

Melody

23

Mrs. Geeta purchased a suit for X575.55, a saree for ¥389.20 and a T-shirt for ¥85.25.

Find the total money spent by Mrs. Geeta.

Solve the equation:
3 2 3 1

Round off the product of 6.43 and 2.6 to the nearest ones place.

.| 4.8 litre of petrol is put in plastic bottles, each containing 0.8 litre of it. How many

such bottles are there?

1.

The following table shows the number of different fruit trees in an orchard. Study it
carefully and complete the following statements:

Trees Number of Trees
Peach 16
Apple 26
Pears 31
Guava 18
Papaya 22

a. There are apple trees in the orchard.
b. Total number of trees in the orchard is

c. Most of the trees in the orchard are trees.
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OSDAY Public School, Kaithal
PT-3 (2024-25)
Class : V SET-B
Subject : Mathematics
Time: Hrs.

M.M. : 30
General Instructions:-All questions are compulsory.

Q.N.

Questions

Marks

1.

a.3.8- =3.8

b.18.7 + 10 =

c.If 213 x 16 = 3408 then 2.13x1.6 is

d.While rounding off numbers to the nearest ten lakh, we look at the digit in the
place.

e. Assertion(A): % of 35km = 7km

Reason(R)% x 35km = 7km

I. Both Aand R are true and R is the correct explanation of A.
II. Both A and R are true but R is not the correct explanation of A.
III.  Aistrue but R is false.
IV.  Ais false but R is true.

1x5=5

Simplify the given numerical expression 14+7%x56 +14—18

[\

A man purchased two pens for X55.50. If the cost of one pen is ¥35.25. Find the cost
of other pen.

Round off the given number to nearest ten thousand and lakh place: 5,28,462

Convert into a decimal number
7

20

The number of books of different subjects in a library are given below. Arrange the
data in a table using tally marks:

English 22

Hindi 13

Mathematics 17

G.Sc 8

Tarun travelled 12.350 km by Auto, 31.525 km by Bus and 1.225 km by Scooter in
one day. Find the total distance travelled by him in one day.

Solve the equation:

Round off the product of 7.32 and 3.4 to the nearest ones place.

.| Kavita has 6.4 Kg of sweets. She distributes 0.4 Kg to each of her friend and finishes

all the sweets. To how many friends did she distribute the sweets?

1.

The following table shows the number of different clubs in a school. Study it carefully
and complete the following statements:

Trees Number of Trees
English Club 26
Music Club 18
Mathematics Club 21
Sports Club 32
Art and Craft Club 14
a. There are 21 members in the club.
b. The English club has members.
C. club has the maximum members.

Page 1of 2/ PT-3/Mathematics/Set-B




Page 2of 2/ PT-3/Mathematics/Set-B



_ Prs(2024-25)

Clars -V — )
- Sub) - Mathematiy i
e S&M ’
rf————MM‘QY\j S_O_lf\_m Mank 4o Adudiond 1
Nefe- cHan Q/K\A\N‘Ul oy gaven !
s i b—*— ven by Candi r!.a',te be i
_M_A&LBL%—M&J |
_ \ . Manks | Tofal
@ No \abut fonks / Kou Pm‘nh ' ohodeined To|Horks
{ { u'df\kujjvf i
@l_a)ro l4\4lH] B
b} | 8% +1 1
¢y| 3-Hod ;
cl) Lakl ‘ i
e)| A s jolse bub R_is bans {
Q2 b +7X 565 14—18, Labtprl 2= |
. = j4 +IXH I8 vy 2 \
- 4> -18"
= - bb A’M -
I % |
Tz 55.50 _L-H);f |
@3 w0 pent = = -
QSS\: :l% o ,bpw Z 5;5 ;;'—55 |
= ,O:H/\-f‘/" en c A 4
e T 20.25 S |
n u( :
s 462 Lo nearnt ten thown
i = 5,30,000 1+ |2
] A 28 (NN
- ot
| () 28,462 Fo neon T

Scanned with CamScanner



I

y 3 1 - =20
o 20 o
N 20] 7.00 (0:35
0 |
6O
. 0.35/na
[CO ‘
lIr-r—rg
T 0
Q6 )
Nome o | Tolly Marks No d) Lty
beoky : bosks T
qu@uk N MHY N TN ) 22 -
-Lh“y\ol..l ML L -1-13-- !
Molhemahis | THY  THI PHY ) 171
G-sc Lo 3 J
| : i - o™ . ?
Q7 Sulonce havellid by Aude = | 2.380 kwmi |42
Bulamte  Mavellsd Lij Par: E 31525 kmf!
Butants BKavellid L;? Segtis = |+ 225 kv
Total dislame dsavelled = 45100 km
L{5'|OO Km . AM
| = 2 . 3 -1 :
_®& ‘Li.'rl'*i‘q a 'H“H—l
= 1 +6 =3 _ 1
4y oy 2=
- T F XL L
T
4 | 2

Scanned with CamScanner



= _]—\' 8 "",.L
H % -
— N B T I—
Lf. g
_ " 15-2 - ]3
Y Y
= 4) ,IS,JLE:-' i _ s 7
_ L & 2%
{ o /
Q- 7. 32 l241] 3
: X B*Y 'y
2928
| Z 1960
‘ 2(4:8838 = 25000
Qlo~ TM duweehh = 6 um 2 | 3
Gueb arnrfm’tb easls HJemo, O. il 113 o
[ Noa?) JgstoLa_gu—ou
= 84 -
o [O
16 ]
:-é—L{ Y_L_@_l_ :]6
S o BN
16 Jmmu AM
Al | Q) Haﬁfw_m:bm |+ |3
h) 26 :
) SID@’EJE'
— 4_|

Scanned with CamScanner



_ Prs (202u-25)

/fﬁhf\ R

Clors -V NSRS
Subleck — Maﬂ:gemw”b&
Sek"— A
M.M.klv\J Sdnvm.a’/ Hint do Aﬂu:‘:l‘_w_.———————‘-
Netv- Ay’ sHan oonawen ot given,

be

tn

,———_AMJMLJ_@_ALM‘A ed .

db.ul? cu\rm LH_CamhAmte

| . . Mandes
\fo&ug Pm'ﬂbx / Koy -Fm‘nb'\' oo teined
! { thlv'f
O [kl
650 2R |45 +1
Ten Ladehn
05\
A A #JAC }7111’ R. m'bw
Sum d) -ﬁdg numbors = £:. 470 ‘!/J}_—Hl;,
b ore muwhin= K251
cther number= 41213
L2132 Ana
39 = 13x7 +8 -1 RIESRAL,
3Ix] + R -2 = :
= 21 48 —~l2
= L£9-12=
= 11 —A’Y\A'

Lg}.@.?} 645 o mearwt ten Hhowand

¥

—
—

|+l

4, 80,000
] P

— @@LS to neanwot Qoded -

5,60, 000

Scanned with CamScanner




| 20 2
_ | 20300 815
1 =
20 015 fus
| © O
oo
0
AING
flgg}%{—% Tally Horky Nu.h%géh%
J : L+1+l
Munge Btesl WL PN 1) 12 =T
ecloivs | 1111 q ”
Glfow Biter]  THL NI DHL 1] 18
F/Qddld{ DL TN PO TR 23
Q- le:dl&;;,t & Khlhi8 B |+ 2.
Cssk—o? Saxryy =F 3I89.00
Gn'SEd) TShat=F 8525
Talal me'n.a,a{ ,{{M F 105000
F (050 00 Amr
8 & 2z =3 1
@ | . + L= — | 1+]
= 1.#$ 68 .|
R
e
= 1 +6x=%t - L
4 . T~

Scanned with CamScanner



Q9

B's

1]

X 26

3853

| 2860

16773 = 17 evo ﬂm

Tolal fobe = 4.8 4

1+2-

‘ bl o each botth - 0.8 L

Number ) bottlen = 4.8 < 0.8
' = Lg - g

[+ +

@l

a) 26

b I3

) fear.

Scanned with CamScanner



